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ﬁﬁ #R% |K#| pH [ DO [BOD|(COD|SS gg? 22X | 28 | 2EH zgjh %jﬁji %;;% if‘fﬁ*f

me) | =m| 7.6 | 9.0 [<o5 | 1.9 3 65 | 0.85 | 0.026[<0.001|<0.01| 0.022 |[<0.01| -

B mavy | =g 78 | 11 |05 | 1.4 K1 32| 0.36 | 0.018]<0.001[<0.01] 0.017 |<0.01| -

7B 5wl 77 10 Jos | 172 49 | 0.61 | 0.022]<0.001]<0. 01| 0.020 [<o.01] -

B | wEN |=Zm| 7.8 | 9.4 [Ko5 | 1.7 3 100 | 0.89 | 0.026(<0.001(<0.01| 0.026 [<0.01] -

BE- | — mis | 28] 8.0 | 11 |05 | 1.0 [<1 22 | 0.58 | 0.027[<0.001[<0.01] 0.027 |<0.01] -

—J/# £ 7.9 | 10 |<o.5 | 1.4 | 2 61| 0.74 | 0.027[<0.001|<0.01| 0.027 [<0.01| -

sE)N (=] 7.4 91| 06| 1.7 2 55| 1.0 | 0.034| 0.001[<0.01| 0.029 [<0.01| -

#E | mEm |2m| 77| 11 o5 | 0.8 |1 43 | 0.58 | 0.034| 0.001[<0.01] 0.031 |<0.01] -

£ 76| 10 | 06| 1.3] 2 49 | 0.79 | 0.034| 0.001[<0.01] 0.030 |<0.01] -

=50 |=m| 7.5 | 89| 05| 2.3 3 160 | 1.0 | 0.032| 0.001(<0.01| 0.029 [<0.01] -

AE | smws 28] 7.6 | 11 [<0.5 | 1.0 K1 43 | 0.76 | 0.030[<0.001[<0.01] 0.030 |<0.01] -

£l 76 10 | 05| 1.7] 2 102 | 0.88 | 0.031] 0.001[<0.01] 0.030 [<0.01] -

ol - )l | =m| 7.6 | 8.9 [o5 | 1.4 3 85 | 0.42 | 0.027(<0.001[<0.01| 0.027 | 0.01| -

ng | mws [gg] 80| 11 ] 05 | 1.1 [K1 32| 0.32 | 0.026[<0.001[<0.01] 0.026 |<0.01] -

£ 7.8 | 10 | 05| 1.3 ]2 59 | 0.37 | 0.027[<0.001[<0.01] 0.027 | 0.01| -

=i | BN |mm| 76| 85| 09| 1.7] 2 85 | 0.54 | 0.019]<0.001[<0.01| 0.015 [<0.01| 3.8
t_t%iﬁ{ BULAR | 288] 7.9 | 11 | 0.5 | 1.6 [<1 29| 0.38 | 0.012/<0.001| 0.01| 0.011 [<0.01] 4.3
Tl 789807 17]2 57 | 0.46 | 0.016[<0.001| 0.01] 0.013 |<0.01]| 4.1

- Bl | =gm| 75| 86| 08| 1.8]3 80 | 0.53 | 0.021(<0.001[<0.01| 0.020 [<0.01| 3.9
B | mem [gm] 79 11 ] 05 | 1.7 [K1 31| 0.38 | 0.025] 0.001| 0.01] 0.025 [<0.01| 4.6
OB lew|l 77 10 o7 ] 18] 56 | 0.46 | 0.023] 0.001| 0.01] 0.023 |<0.01| 4.3

- SHIN | =g| 7.4 | 8.8 [<0.5 | 1.4 | 1 210 | 0.49 | 0.017/<0.001[<0.01| 0.017 [<0.01| 5.0
ray| TEFE | zgm| 7.4 | 10 K05 | 1.1 1 36 | 0.36 | 0.016/<0.001[<0.01]| 0.015 [<0.01| 4.8
| 7.4 9.4 |05 | 1.3] 1 123 | 0.43 | 0.017]<0.001[<0.01] 0.016 [<0.01] 4.9

it BREIN | =g 7.6 | 8.5 0.5 | 2.1 | 1 200 | 0.36 | 0.023| 0.001[<0.01| 0.023 [<0.01| 4.0
Bme | FAE | xm| 7.8 | 11 [ 06| 1.7 ] 1 130 | 0.46 | 0.022]<0.001[<0.01] 0.022 [<0.01] 4.7
£l 771 98] 06| 1.9] 1 165 | 0.41 | 0.023| 0.001[<0.01] 0.023 [<0.01] 4.4

- WEN | =g 7.6 | 8.4 [<0.5 | 21 | 1 110 | 0.45 | 0.027[<0.001(<0.01| 0.027 [<0.01| 3.4
BT | o 28] 77 | 11 [ 05 ] 1.6 <1 39 | 0.32 | 0.026] 0.001| 0.01] 0.025 [<0.01] 3.9
£ 7719705 1.9] 1 75 | 0.39 | 0.027] 0.001] 0.01] 0.02 |<0.01] 3.7

Bf - mg/L

(p HRUKBERZER < . KIBEEULCFU/100mL)
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mit i
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£ 1[<0.5 |<0.5 | 0.6 [<0.5 [<0.5 | 0.6
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